2017 paper 3 (Edexcel GCSE) — solutions

Answer ALL questions.
Write your answers in the spaces provided.

You must write down ali the stages in your working

1 &= {odd numbcrs tess than 30}

A=Z 90
B= {813, 26}

{n) Complete the Vern diagram to represent this information

b T, Iy 1 1%,19,25,29

A number is chosen at random from the universal set, &
{b) What is the probability that the number is in the set 4 1 82
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{Total for Question 2 is 3 marks)
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The table shows some information about the dress sizes of 25 women

Dress size ‘ Number of women

(5%

s

{a) Find the median dress size.
25 okjeds —> (9-m —12)
Medion = 13 volme

— Dress sz |2 2

3 of the 25 women have a shoe size of 7
Zoe says that if you choose at random oue of the 23 women, the probability that she has

either a shoe size of 7 or a dress size of 14 s b because
25

3 6 9
i el
26 28 25

(b} s Zoe correct?
You must give a reason for your answer.
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{Total for Question 3 is 1 marks]
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Daniel bakes 420 cakes,
He bakes onty vanilla cakes. banana eakes. lemon cakes and chocolate cakes.

3
»_'; of the cakes are vanilla cakes.

35% of the cakes are banana cakes.
The ratio of the number of Temon cakes w the number of chocolate cakes is 4+ 5

Work out the number of lemon cakes Daniel hakes.
Coltes = V, B, L,C

LS
2/z  35%h (;“‘h" " 5>

vonllo cokes = % oy 420 ;;ii
Ropono @IS = 255 dﬁ o = l
L+ cakes = wzo~ (XD = 53
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{Total for Question 4 is 5 marks)
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5 o the diagram. 48, BC and CD are three sides of a regular polygon P,

square

regular |2-sided polygon

-
e \/

Show that polygon P is a hexagon.

You must show your working.
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(Total for Question 5 is 4 marks)

The density of apple juice is 103 grams per em’,

The density of {ruit syrup is 1.4 grams per em'

The density of carbonated water is .99 grams per cm’,

25em’ of apple juice are mixed with [5cm? of fruit syrup and
280 cm® of carbonated water 1o make # drink with a volome of 320 em'.

Wk out the density of the drink.
Give your answer correct to 2 decimal places.

Ligued dorsdy | vol | mass

As| 105 | 25 | 2635 ﬁ—-(-m%
Fsl tw | m [ 21 o
cw| 099 280 | 2372

Danke|| 7 220 | 24:U5
dnk = 3BZHMD
Da%&‘a of -

q.&qu,,,.

. l ’O ( glem?

{Yotal for Guestion 6 is 4 marks) ‘
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7 ABCis a right-angled triangle, ,%

A square, with sides of length xom, is inside a cirele,
Each vertex of the square is on the circumference of the circle.

The area of the circle is 49 om?

Work out the valoe of x.
Give your answer correct to 3 significant figures.

&
\ -
Calculate the length of 48. ‘ - 5
Give your answer correct to 3 significant figures. \ qu =Y
SN2 = oPP
HOP

2z - U9
« - = e
ey
BAEE = _7% =@ = B.349%2...
X = Bein??
A =

 Doomder = 24399, = 73965,

536 5 r - 2

\AJD e 206 = 2% 4 > = 789865
(Total for Question 7 is 2 marks)

| \gweges 5 = 523887,

78’ = 3!"9“{' L2

{Total for Question 8§ is 4 marks)
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9 The box plot shows information about the distribution of the amounts of money spent by
some male students on their hotidays,

Male
students

'?3 = =

b

i

0 160 200 300 400 500

600 700 800 900 1000
Money spent (£)

L & = 150

0y = 280

I@ﬂ - UR- LA
=230 -150

{a) Work out the interquartile range for the amounts of money spent by these male students.

The table below shows information about the distribution of the amounts of money spent
by some female students on their holidays.

Smallest |

i : Median Up o Largest
§ . quartile quarttle i
| 66 80 300 0 350 650
thy On the grid above, draw a box plot for the information in the table.

Chris says,

“The box plots show that the female students spent more money than the male students.”
(e} Is Chris correct?

Uive a reason for vour answer.

(Total for Question 9 is 5 marks)
16 Naohy invests £6000 for 5 years.

The investment gets compound interest of +% per annum,

At the end of 5 years the investment is waorth £8029.35
Work out the value of y.

ik Hler = ™M

Stegt = FGOP

° _ ®029-35
_ Zeowoxm = B
Altes SBMS

5 = 0235 = |38
a Eov0

. m=_gfimmas =1:051777908
%/mw@t e = 5AIT-

- 6.00% (2F)

éroo}

{Total for Question 10 is 3 marks)




11 Jeftis choosing a shrub and a rose tree for his garden,
At the garden centre there are 17 different types of shrubs and some rose trees.

Jeff says,
“There arc 215 different ways to choose one shrub and vne rose tree,”

Could Jeff be correet?
You must show !ww YO et YOUur answer.

/zum/’tﬂ4 woys Jo chone lsbw
Bk 17 dbegw%&m&ﬂeme&& ko 25

~ {Total for Question 11 is
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12 The points A, B, Cand D lic in order on a steaight line,

IB Bhi= 1. ‘5
Wark out AB:BC;CD A 3 D
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(Total for Question (2

is 3 marks) J
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Write down the three inequalitics that define the shaded region.
§ v Bt
lne Ly (opdok =221 > y=Ix+O
o e o X
Line LZ_EW‘L =5 Y=+ |
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{Total for Question 13 is 4 marks)
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(x -+ ymetres
/ [15(’?
A : B
Q2x - Dmetres
5 + W The area of triangle ABC is 652 m™,
co—————
2K *3 Caleulute the value of x.
IR / Give your answer correet 1o 3 significant figures.
¢ s
%
ay .
(b3 Make v the subject of the formula w = MEU ‘) A fEa = % a'b gmc

WY = \‘5(t—?.v> L = ;,(:c»fs}(z:cﬂ)(%)
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{Total for Question 14 is 6 marks)
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16 Usinglx,, =2~
Withi/=~25

() find the vatues of x,. x, and x,
'I‘O =-25

T G

7C7_, = (S = —2’5?3q21r"
P = ""2'603?6,:;;

I
Vo
W

(b} Explain the refationship between the values of x. v, and x, and the equation x* + 242 # 4 = 0

[g@wed)m%wmfuruxyw ............
-Qadually. converge. to o Snhén of. e eg:0hin

{Total for Question 16 is £ marks)

F7 A train travelled along a track i 110 minutes, correct to the nearest 5 minuies. é
Jake finds out that the track is 270 km long.
He assumes that the track has been measured correct W the nearest 10 km.

{a) Could the average speed of the train have heen greater than 160 kma?
You must show how you get your answer,

D= 265> 235 km

< 2 (€mlh)

T= 1095 = 112-5 MAnS S _ 238
o 015 5 125 hows P MAY nmmams—

= 153.48%... w/h

No, ¥ ~5@mc§ coa fOt e gvep&u Yo O E:M/;/

SMON = DMQ\(

Jake's assumption was wrong,
The track was measured correct to the nearest § k. \ lé—l—-—jk {

7:55 1 2120} 2£5

(b Explain how this could affeet your decision in part (a).
\? D 8 2675725 km
Son Bpe = TIE o 2., ¥

l‘o_”'?_é
e  maxivmumm VgL ,65;@& v g{,\@hﬁ% redu CC’..AK/ h

{Total for Question 17 is 5 marks)
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A. B and C are points on a circle of radius 5 cm, cenatre O,
D24 and DC are tangents 1o the ciicle,
00O =9 em

Work out the length of are AB8C.
Give your answer correct to 3 significant figures.
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{Total for Question 18 is 5 marks)

19 Solve 2x"+ 35 -2 » 4

) Caal o

Vv, 2x-\=O or x42=0

!

{Total for Question 19 is 3 marks)
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The equation of circle Cis ¥+ = 16

33
The circle C is tranglated by the vector (O)
(b) Draw a skeich of circle B. ./

Label with coordinates 7
the centre of circle B

5
20 The equation of a curve is y =& \9’/
A is the point where the curve infersects the y-axis.
{a) State the coordinates of 4. A
® x0, y=0° = -
o= 3 e
= |

and any poinis of intersection with the y-axis. v

C he coe (00) od rodin %
(3) = bodabion 43 to g

to give circle B.

ond coged ¥

/
A
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{Total ﬁrr Cuestion 20 is 4 marks)

TOTAL FOR PAPER 1S 80 MARKS




